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QUESTION 1

An administrator deployed a linked-clone pool with virtual desktops running Windows XP for a branch office. The Active
Directory server supporting the office is a Windows Server 2008 Read Only Domain Controller (RODC). The
administrator makes the following changes to Sysprep: Join the Domain Use the Virtual Machine name for the NetBIOS
name When the administrator attempts to provision the desktops using View Composer, the following error message is
displayed: 

View Composer agent initialization state error (18): Failed to join the domain (waited 565 seconds) 

What should the administrator do to provision the virtual desktops? 

A. Configure the desktop pool to use Quickprep instead of Sysprep to provision the Linked Clones. 

B. Log in to the parent virtual machine and apply the RODC compatibility update for XP. Take a new snapshot and
recompose the pool. 

C. Configure the virtual desktops to synchronize time from another domain controller that is available on the network. 

D. Log in to the parent virtual machine and reinstall the View Agent. Take a new snapshot and recompose the pool. 

Correct Answer: B 

 

QUESTION 2

An administrator needs to create a full clone desktop pool and reduce storage costs by using the SEsparse disk feature.
However, this option is not displayed in the Add Pool wizard. 

What is the likely reason that the administrator is prevented from enabling this option? 

A. SEsparse disks can be used only with linked-clone desktop pools. 

B. SEsparse disks are not supported with NFS storage. 

C. SEsparse disks are not supported by the storage vendor. 

D. SEsparse disks must be configured using PowerCLI. 

Correct Answer: A 

 

QUESTION 3

An administrator creates a new Application pool for Chrome on a Windows 2008 R2 SP1 pool. Users report that they
cannot browse the Internet. 

What must the administrator do to enable Internet access for Chrome? 

A. Use vmxnet3 virtual device driver. 

B. Edit the parameters for Chrome to use --allow-no-sandbox-job. 
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C. Use e1000e virtual device driver. 

D. Edit the parameters for Chrome to use --safe-browse-network. 

Correct Answer: B 

 

QUESTION 4

An administrator is configuring Kiosk mode in View. The administrator completes the following tasks: 

Verifies that clients on the Windows machines that are being used can connect with a normal username and password. 

Creates accounts with appropriate Active Directory attributes for the machines that will operate as 

kiosks. 

When the clients are tested, they do not automatically log in after connecting to the Connection Server. 

What is causing this issue? 

A. The Kiosk mode user account was not added to the Connection Server to which the client is connecting. 

B. The Connection Server to which the client is connecting has not been enabled for Kiosk mode clients. 

C. The Kiosk mode user account was created in the wrong Organizational Unit. 

D. The View Client machine has not been enabled for Kiosk mode using the client registry settings. 

Correct Answer: B 

 

QUESTION 5

An administrator is building a new View parent image to boot the operating system (OS) from an .ISO file that is loaded
with the virtual machine\\'s CD-ROM. When the virtual machine boots, the .ISO does not load and instead, attempts a
PXE boot. 

What should the administrator verify the CD-ROM is set to in order to correct this issue? 

A. is set to Emulate IDE. 

B. is set to Connect at Power On. 

C. is set to Device Type - Client Device. 

D. is set to Device Type - Host Device. 

Correct Answer: B 
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